= O
A & 0l & AF S E M A
2013 T 2O AH UBHSIN HONQI=XID ~ FOHOIS X Dt
S FOHOI=ZX
Ha: Zojel =2XEA
el ROHQ SRS (B9 &2
o 3 _ _ FSIE =
SAN-ZH-SA(FA) - NFAY - BES O AF K Ofl At ot HwsZ
0 Q1= X/ 3t 91,727,060 86,051,730 5,675,330
=2 48,124,027
& 21,279,850
= 22,323,183
B0HQ =SXEZ 91,335,334 85,646,860 5,688,474
=2 47,880,948
2 21,279,850
= 22,174,536
ZOHQ =X 32,997,827 32,948,227 49,600
=2 26,742,428
= 6,255,399
ZojoIoz X 22,348,342 22,348,342 0
= 19,802,328
= 2,546,014
308 XHXI RIS 01 & 22,348,342 22,348,342 0
=2 19,802,328
= 2,546,014
01 XIS B A2 ES 22,348,342 22,348,342 0
OFoIe 2 X 22,348,342
= 19,802,328
= 2,546,014
BOH4Y X 6,078,860 6,078,860 0
=2 5,386,332
= 692,528
308 XIS 01 & 6,078,860 6,078,860 0
= 5,386,332
= 692,528
01 XX SHZASES 6,078,860 6,078,860 0
OFMLLRIR 6,078,860
=2 5,386,332
= 692,528
Zoel o2yl N 1,337,818 1,337,818 0
2 1,244,482
= 93,336
308 Xt X £HHI S 01 & 1,337,818 1,337,818 0
= 1,244,482
= 93,336
01 KA SHBASES 1,337,818 1,337,818 0
OFoelol 2| 1,337,818
=2 1,244,482
= 93,336
Zojel MHDEY N 38,137 38,137 0
= 35,476
= 2,661
308 XX £H 7 S 01 & 38,137 38,187 0
= 35,476




SH: EMOI=X T
M3 Foje 2XNSH

SHol: BOj =X (oA
MNuE o
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
< 2,661
01 X SHHBARES 38,137 38,137 0
OZ 02l XA DS H| 38,137
= 35,476
= 2,661
ool SERE XY 22,110 22,110 0
= 22,110
308 XX/ EHHIS 0| ® 22,110 22,110 0
= 22,110
01 X SHHBARES 22,110 22,110 0
OF QIS =T CHy| 22,110
= 22,110
ZOQl AEOHY X 1,975,340 1,975,340 0
308 XXl EFHISOI 1,975,340 1,975,340 0
01 X SHHBARES 1,975,340 1,975,340 0
OFH+Z FIX 535,250
SRR X 535,000
OZANHZE Foh =AYl X 364,890
OZZZQ IS X2 413,900
OFAZNOIS ATLBOIZ 2 L WEXS
Xl 18,000
OFZLIF0Q o2H X2 20,700
OISOl AAAX X 39,600
OFHIAARA 2 48,000
SOHEZN FEUIHEAY X 254,410 254,410 0
= 195,700
< 58,710
403 X+ XI €Al S KH2 01 & 254,410 254,410 0
= 195,700
= 58,710
01 XEXI S RH2 2 & 254,410 254,410 0
OsO0EZ0Hol Feh= 254,410
= 195,700
= 58,710
Aol ol AL 88,000 88,000 0
307 Q120 & 88,000 88,000 0
10 AFEI = X2 X 88,000 88,000 0
OAFZ9l ol At 88,000
ZojeIHES X 417,600 369,600 48,000
201 LBt | 35,000 0 35,000
01 AtR 22t 35,000 0 35,000
OFOHQl QI et &I} 23 20,000




A RV RPN}
Xz FHOHol 2X=EE
—/ fe=) — il (=T

el ROHQl SRS (B9 &2
_ _ HE T
A -3 -H2A(SH) - HEAMY - BES (il & OH Ol AF o8 Hlws2
OFOOI=ZTIAY OH EH2IZ3 A= 15,000
203 2= Z bl 7,600 7,600 0
03 Al B = Z & 2T Y| 7,600 7,600 0
OFMOI=T SHorREz 2,850
OFMOIST A2 EZ 4,750
307 BI2+0|H 326,000 305,000 21,000
NREENEES 326,000 305,000 21,000
OO ©F S+ 7 XH & Al 2 70,000
OFOHOI Q1A H & AL &S 256,000
308 XIS 01 & 49,000 22,000 27,000
01 X SHZAEES 49,000 22,000 27,000
OUATOIY RENAMNTHME T2 X2 22,000
OFofeIEs Il P 27,000
O Q1 TH & AF 2! K| 2 144,000 144,000 0
308 XX €I S 01 & 144,000 144,000 0
NP EY EREES 144,000 144,000 0
OAI2E O Q1 TH & Al 2! 144,000
DO QIS 2 51 X 2 AFYS 111,210 111,210 0
308 XHXIEH A S 01 & 111,210 111,210 0
01 X SHHZAEED 111,210 111,210 0
OFMel A2PSK 111,210
D OHQI M A2 70,000 70,000 0
=2 56,000
= 14,000
307 RI2+0| & 70,000 70,000 0
=2 56,000
= 14,000
NREENEES 70,000 70,000 0
O & QI M ALY 70,000
=2 56,000
= 14,000
ST RIE RN =ONE 102,000 102,000 0
307 DI2+0| & 102,000 102,000 0
NREEEES 102,000 102,000 0
OFoIRIp ALY 102,000
ROYQIZX20F HHEHA 2= 10,000 8,400 1,600
201 Lor2 S| 10,000 8,400 1,600
01 AL 2relHl 10,000 8,400 1,600
OFOHQUZX 20t HHHA D= 10,000




= IEY
L Fojel EXNEE
ROl XX

S EH . S(BH) - NEAY - B2 Ak o4 gggf; HDE2
20Nl X X & 23,998,630 22,295,682 1,702,948
= 18,608,882
= 5,389,748
O MATHEAILE 2H 716,149 519,819 196,330
307 QI2t0| & 68,000 0 68,000
10 AFSIBXIEX 68,000 0 68,000
OE£stn B AATHE AL 18,000
O3YItH 29 X3 50,000
308 XX S SOl A 648, 149 519,819 128,330
01 IXIEMBAEEZ 648, 149 519,819 128,330
OZOMIZATHEAIE 2H 553,429
OO ATHE AL SALXH H 26,520
OXHMUXMATHEAIE SSHOC ES K} 11,700
OIS MEAE SEHINH 56,500
oI ATHEAIE DI SsELY XS 1,650,000 1,576,680 73,320
= 1,100,000
& 550,000
403 XX S S K201 A 1,650,000 1,576,680 73,320
= 1,100,000
= 550,000
01 AXHMANE2E X 1,650,000 1,576,680 73,320
O LMEANALE JIsE2S 1,650,000
= 1,100,000
== 550,000
ZOHQIMAE HHIHAIESH 220,000 192,300 27,700
= 75,000
& 145,000
307 QI2t01 ™ 170,000 192,300 N 22,300
= 60,000
& 110,000
10 AtSIS X2 =X 170,000 192,300 N22,300
O&HOOIMAZS HIHAIE 29 150,000
= 60,000
o= 90,000
OZSSEHMNOMAS LIS LR 20,000
402 SIZ2HXFE20| M 50,000 0 50,000
= 15,000
[ 35,000
01 QI X228 X 50,000 0 50,000
OHOHCIMAS THIHAIE 2 XE 50,000
= 15,000
& 35,000
ool Xeiae XA 444 000 474,000 230,000




A RV RPN}
Xz FHOHol 2X=EE
—/ fe=) — il (=T

o= iR K& XA (&2 &
_ _ _ AT
SA - EE L SR(E) - MRAY - HAS 0l &k o4 e HlD=2
= 120,000
& 324,000
307 2I2t0| & 270,000 300,000 30,000
10 At SXIE X 270,000 300,000 30,000
Q& XNEHMEHEH 29 XN (KHA) 270,000
308 KX SIS0l A 174,000 174,000 0
= 120,000
== 54,000
01 AIXESHXBAEEZ 174,000 174,000 0
Q& XHMEHEH 29 X (=2H]) 174,000
= 120,000
& 54,000
Zojel s 14,826,289 13,193,665 1,632,624
= 12,508, 104
= 2,318,185
307 212+01 & 20,000 0 20,000
05 QI+t &2 20,000 0 20,000
OZSHMC EsE2X XA (=) dNHIRH
29 20,000
308 KX SIS0l A 14,806,289 13,193,665 1,612,624
= 12,508, 104
== 2,298,185
01 AIXSHNB&AEEZ 14,806,289 13,193,665 1,612,624
OFfel &2sXa A 14,116,289
= 12,508, 104
& 1,608, 185
OssHMe 2T XA (FI}) 690,000
ZHojel LRl At K& 2,323,345 2,701,995 A378,650
= 1,795,986
T 527,359
307 212+01 A 285,920 308,000 A 22,080
= 228,736
T 57,184
10 MBI SXIEX 285,920 308,000 N22,080
Od=zY AIZTEOCl CHOFAF TFAAH 285,920
= 228,736
= 57,184
308 A XX S0I™ 2,037,425 2,393,995 A356,570
= 1,567,250
& 470,175
01 AXIEMIAEEZ 2,037,425 2,393,995 A 356,570
O&Oel sXLXtel X 597,870
= 459,900
& 137,970
O&fel HdZEE=<0 XA 1,439,555




A ZOH =X 2t
X X0l 2X=X
-/ o — —/ [Ty S

el ZOHOl KXY (eel: &
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
= 1,107,350
= 332,205
ZOHOLS Jt= XIS 3,444,217 3,217,417 226,800
= 2,945,020
= 499,197
308 XXI €I S0l & 3,444,217 3,217,417 226,800
= 2,945,020
= 499,197
01 RXISHHZA XS 3,444,217 3,217,417 226,800
OHHOIS WEXIE 3,025,908
= 2,681,184
= 344,724
ONFAZREZREHS Q012X 189, 126
=2 167,580
= 21,546
OFOHO! ISR (LT SYMEXY &
&) 122,000
OS24 A2 78,115
= 69,216
= 8,899
OXESANHIA N 6,708
=2 6,240
= 468
OSESANBEL HIE N 22,360
=2 20,800
= 1,560
BOHQl BXI|17 N 144,630 189,806 £45,176
= 64,772
< 79,858
308 XX A S 0| & 144,630 119,806 24,824
= 64,772
= 79,858
01 HAEHBAEES 144,630 119,806 24,824
OFNWUREIT XN 69,630
= 64,772
= 4,858
OFNWIEHT SN 70,000
OFNWUEHT QHNLSI| LXK 5,000
D04 SSHEESK & 80,000 80,000 0
307 BI2+0| & 80,000 80,000 0
PNETEIVEE:S 80,000 80,000 0
OFoIEtAE 2 70,000
OA2AFIHE 2 10,000
SURHQINISNALE 2 150,000 150,000 0
307 BI2+0| & 150,000 150,000 0




SN
X XH .
S Tt

el

0l = X
ool =XEA
Zofol KRN

_ _ _ Muo
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
10 At S X2 X 150,000 150,000 0
OZOIINIEX ALY 23 150,000
ZOoHel AldE = 34,338,877 30,402,951 3,935,926
= 2,529,638
= 21,279,850
= 10,529,389
ZBUAUAHFAIE D522 NH 3,858,926 4,081,020 N222,094
= 2,372,618
S 1,486,308
403 XX SIS AH=01& 3,858,926 4,081,020 N222,094
= 2,372,618
< 1,486,308
01 AIXSHHMA2EX 3,858,926 4,081,020 N222,094
OFMLHFAIE JISEZ 3,858,926
= 2,372,618
= 1,486,308
ZOHQXIAMHSI (XHE) 549,536 404,949 144,587
= 20,000
S 529,536
307 212+01 o 549,536 404,949 144,587
= 20,000
S 529,536
10 A2l S RI2X 549,536 404,949 144,587
Osg+tSddH2S 194,394
= 10,000
= 184,394
OSEHMUNESHEHZS 250, 142
= 10,000
< 240,142
OURSHHI7TA MG 5,000
OEEds0dAMLMENHZY 50,000
OBZ+818E2Y 50,000
ZOHQIEHOIA L E S HE(RE) 210,000 155,804 54,196
= 25,000
< 185,000
307 21Z2tol & 210,000 155,804 54,196
= 25,000
= 185,000
10 At S X2 & 210,000 155,804 54,196
OZSHZMHABAANLXNALEHZ L 145,000
= 10,000
= 135,000
OQEHJANELELEXNEUENHRI 65,000
= 15,000
= 50,000

~




SN
L EOH =XBH
el

X ZH
(=]

EOHer =Xl 1t

_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F oK Ofl At ot Hws2
OOl SHEBAY 2 122,762 62,000 60,762
= 61,381
= 61,381
307 812+0| H 122,762 62,000 60,762
= 61,381
= 61,381
05 QI2t9Iet 3 122,762 62,000 60,762
OHOl SHSEAY 29 122,762
= 61,381
= 61,381
ZOHQAHFAE 29 21,462,230 19,119,463 2,342,767
= 17,721,520
= 3,740,710
308 XXl EHHI S0l & 21,462,230 19,119,463 2,342,767
= 17,721,520
= 3,740,710
01 HXSHBA2ES 21,462,230 19,119,463 2,342,767
OFMOl HEANL 2 21,351,230
= 17,721,520
= 3,629,710
Ol FoHel HEAL 29 111,000
EEZHULER4Y XY 119,000 119,000 0
308 XbXI €I S0l & 119,000 119,000 0
01 RSB A EES 119,000 119,000 0
OSSO0 B4+ 119,000
ZOHQIXIRHEH 2 (XIY) 1,376,660 1,361,660 15,000
308 X+XI £t M SO & 1,376,660 1,361,660 15,000
01 RXSHBABES 1,376,660 1,361,660 15,000
ONZ 432 %UEH 29 514,800
OANZ ZUHANSEHE 2 651,860
OAZ ZOHQBEOIAL XHME 2% 195,000
O%SSASARS Y 245} 15,000
ZOHQI B Ol Al & S H I (XI”) 99,000 69,000 30,000
308 X+ Xl EHH SOl & 30,000 0 30,000
01 HXEHZAEES 30,000 0 30,000
O OHOI B O Al & & Ef E AL 30,000
403 XSRS K20 & 69,000 69,000 0
01 XX St XH2 2 X 69,000 69,000 0
OFNABAN LTS 69,000
D=2 2 4,834,395 3,507,361 1,287,034
= 3,203,037
= 1,681,358

@
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D= X1
e =Xsd

o

48,860

_ _ _ HET
SM-ZFH - HA(SH) - MRAIY - BY loﬂ/'\_FOH Hos
= 136,080
[ 17,49
o Ns2 29 80,000 72,692 7,308
= 10,000
[ 70,000
307 2I2t0l & 80,000 72,692 7,308
2 10,000
[ 70,000
10 MBI =X 80,000 72,692 7,308
O Ns2 24 80,000
s 10,000
= 70,000
ZOHQIZTHEAL 29 250,000 200,250 49,750
= 20,000
[ 230,000
307 2120l & 250,000 200,250 49,750
2 20,000
[ 230,000
10 MBI =X 250,000 200,250 49,750
OIS EMEANE2Y 250,000
s 20,000
= 230,000
ZOHAAIE S AR < IH&HI 478,080 478,080 0
307 2I2tol A 54,000 54,000 0
10 MBI SXEE 54,000 54,000 0
O HoHelol=E0ld SALA MM 54,000
308 XHXI XIS Ol & 424,080 424,080 0
01 IXSHHBAEES 424,080 424,080 0
OANZZHOI0IZ2AIE BALA HME 109,080
OANZEHOMAAFAIE BALL HR2ME 315,000
ZOHQAITHEAIE D52 694,712 508,096 166,616
= 20,940
s 218,912
[ 454,860
402 BIZEXH2 0| & 694,712 473,096 221,616
= 20,940
2 218,912
[ 454,860
01 It =22 X 694,712 473,096 221,616
OHMeIsX2 JIsEL (MR, E2) 579,002
s 173,002
[ 406,000
O B2HEANLISEY 69,800
20,940

—_




A RV RPN}
Xz FHOHol 2X=EE
—/ fe=) — il (=T

el FOHl AlLES (el &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 il b o B2
ONSHMASNREIS2L 35,700
= 35,700
OAZH SIS 10,210
= 10,210
ZONOIIIE O LR 347,256 360,400 ~13,144
= 243,079
= 104,177
ZONOIIIS Ol LKX 347,256 360,400 ~13,144
= 243,079
= 104,177
DN S OIS LRI 347,256 360,400 A13, 144
= 243,079
= 104,177
307 212+0I & 347,256 360,400 A13, 144
=2 243,079
= 104,177
SENEES 347,256 360,400 ~13,144
OBOHOIS 25 X2 347,256
= 243,079
= 104,177
HH S AL (FHO=XD) 44,470 44,470 0
2 44,470 44,470 0
JI2ZHI (L =RD) 44,470 44,470 0
201 YEr2 Y| 20,900 20,900 0
01 AtR 22| b 20,900 20,900 0
RN EIEWR-EES 20,900
202 048 20,570 20,570 0
01 2UHOTH| 20,570 20,570 0
OZU=T ALEZ 20,570
203 YR =Y 3,000 3,000 0
VENEEEEES 3,000 3,000 0
O of oI =X 3,000
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